4.1 Spectal Theory and Fourier Transform  

$$u(x,k) = e^{-k} \le n \cdot x, \qquad \text{seperable sol}^{D}$$

$$u(x,k) = \mathcal{Q}(k) h(x) \qquad \mathcal{Q}(0) = 1$$

$$u(x,0) = h(x)$$

$$0 = \partial_{k}u - \Delta u = (\partial_{k}\mathcal{Q})h - \mathcal{Q}\Delta h$$

$$\frac{\partial_{k}\mathcal{Q}(k)}{\mathcal{Q}(k)} = \frac{\Delta h(x)}{h(x)} = -\lambda$$

$$\partial_{k}\mathcal{Q} = -\lambda\mathcal{Q} \qquad \text{a.t} \quad -\Delta h = \lambda h \qquad Lx = \lambda x$$

$$\mathcal{Q}(k) = e^{-\lambda k} \qquad \text{eigenbeton equation } d - \Delta$$

$$-\frac{\partial_{k} \sin x}{\partial x^{2}} = -(-\sin x) = \sin x, \quad \lambda = 1$$

$$h(x) = \sin x + \cos 2x, \qquad -\Delta \cos(2x) = 4\cosh(x)$$

$$h_{1} \qquad h_{2}$$

$$U_{1} = e^{-k} \sin x, \qquad u_{k} = e^{-4k} \cos 2x$$

$$(k = u, tu_{k})$$

$$u_{1} = e^{-k} \sin x, \qquad u_{k} = e^{-4k} \cos 2x$$

\_\_\_\_\_

$$\frac{1}{1} \left( lam e^{2\pi i k \cdot x} \right|_{is a explosion} \left( - b \right) \left( k \cdot x + k \cdot k \cdot k \cdot x + k \cdot x + k \cdot x \right) \\ \frac{1}{1} \left( lam e^{2\pi i k \cdot x} \right) \left( 2\pi i \cdot k \right) \\ \frac{1}{1} \left( e^{i4} = cost + i \cdot snt \left( Euler \right) \right) \\ \frac{1}{1} \left( e^{2\pi i k \cdot x} \right) = e^{2\pi i k \cdot x} \left( 2\pi i \cdot k \right)^{2} = e^{2\pi i k \cdot x} \left( 4\pi^{2} (-i) \right) k^{2} \\ \frac{1}{2} \left( e^{2\pi i k \cdot x} \right) = e^{2\pi i k \cdot x} \left( 2\pi i \cdot k \right)^{2} = e^{2\pi i k \cdot x} \left( 4\pi^{2} (-i) \right) k^{2} \\ \frac{1}{2} \left( e^{2\pi i k \cdot x} \right) = e^{2\pi i k \cdot x} \left( 2\pi i \cdot k \right)^{2} = e^{2\pi i k \cdot x} \right) \\ \frac{1}{2} \left( e^{2\pi i k \cdot x} \right) = e^{2\pi i k \cdot x} \left( 2\pi i \cdot k \right)^{2} + \frac{1}{2} \left( 4\pi^{2} k_{1}^{-1} + \dots + 4\pi^{2} k_{n}^{-1} \right) \\ \frac{1}{2} \left( e^{2\pi i k \cdot x} \right) = \int f \frac{1}{2} \left( 4\pi^{2} k_{1}^{-1} + \dots + 4\pi^{2} k_{n}^{-1} \right) \\ \frac{1}{2} \left( e^{2\pi i k \cdot x} \right) \left( e^{2\pi i k \cdot x} \right) = \int f \frac{1}{2} \left( e^{2\pi i k \cdot x} \right) \\ \frac{1}{2} \left( e^{2\pi i k \cdot x} \right) \left( e^{2\pi i k \cdot x} \right) = \int e^{2\pi i k \cdot x} dx \\ \frac{1}{2} \left( e^{2\pi i k \cdot x} \right) = \int e^{2\pi i k \cdot x} dx \\ \frac{1}{2} \left( e^{2\pi i k \cdot x} \right) = \int e^{2\pi i k \cdot x} dx \\ \frac{1}{2} \left( e^{2\pi i k \cdot x} \right) = \int e^{2\pi i k \cdot x} dx \\ \frac{1}{2} \left( e^{2\pi i k \cdot x} \right) = \int e^{2\pi i k \cdot x} dx \\ \frac{1}{2} \left( e^{2\pi i k \cdot x} \right) = \int e^{2\pi i k \cdot x} dx \\ \frac{1}{2} \left( e^{2\pi i k \cdot x} \right) = \int e^{2\pi i k \cdot x} dx \\ \frac{1}{2} \left( e^{2\pi i k \cdot x} \right) = \int e^{2\pi i k \cdot x} dx \\ \frac{1}{2} \left( e^{2\pi i k \cdot x} \right) = \int e^{2\pi i k \cdot x} dx \\ \frac{1}{2} \left( e^{2\pi i k \cdot x} \right) = \int e^{2\pi i k \cdot x} dx \\ \frac{1}{2} \left( e^{2\pi i k \cdot x} \right) = \int e^{2\pi i k \cdot x} dx \\ \frac{1}{2} \left( e^{2\pi i k \cdot x} \right) = \int e^{2\pi i k \cdot x} dx \\ \frac{1}{2} \left( e^{2\pi i k \cdot x} \right) = \int e^{2\pi i k \cdot x} dx \\ \frac{1}{2} \left( e^{2\pi i k \cdot x} \right) = \int e^{2\pi i k \cdot x} dx \\ \frac{1}{2} \left( e^{2\pi i k \cdot x} \right) = \int e^{2\pi i k \cdot x} dx \\ \frac{1}{2} \left( e^{2\pi i k \cdot x} \right) = \int e^{2\pi i k \cdot x} dx \\ \frac{1}{2} \left( e^{2\pi i k \cdot x} \right) = \int e^{2\pi i k \cdot x} dx \\ \frac{1}{2} \left( e^{2\pi i k \cdot x} \right) = \int e^{2\pi i k \cdot x} dx \\ \frac{1}{2} \left( e^{2\pi i k \cdot x} \right) = \int e^{2\pi i k \cdot x} dx \\ \frac{1}{2} \left( e^{2\pi i k \cdot x} \right) = \int e^{2\pi i k \cdot x} dx \\ \frac{1}{2} \left( e^{2\pi i k \cdot x} \right) = \int e^{2\pi i k \cdot x} dx \\ \frac{1}{2} \left( e^{2\pi i k \cdot x} \right) = \int e^{2\pi i k \cdot x} dx \\ \frac{1}{2} \left( e^{2\pi i k \cdot x} \right) = \int e^{2\pi i$$

$$h''='' \int \langle h_{1} e^{2\pi i k \cdot x} \rangle e^{2\pi i k \cdot x} dx$$

$$Definition 4.01 A_{1} \quad Fourier hereform f. h: R'' \to R is defined to be
$$\hat{h}(k) = \mathcal{F}[h](k) = \int_{\mathbb{R}} h(x) e^{2\pi i k \cdot x} dx$$

$$= (h_{1}) e^{2\pi i k \cdot x} dx$$

$$= e^{-1\pi x} e^{-\pi^{2} x^{2}} e^{-\pi^{2} x^{2}}$$$$

$$\mathcal{F}\left[e^{-\alpha |x|^{4}}\right](k) = \left(\frac{\pi}{\alpha}\right)^{n/2} e^{-\frac{1}{\alpha}|x|k|^{4}}$$

$$\mathcal{F}\left[e^{-\alpha |x|^{4}}\right](k) = \left(\frac{\pi}{\alpha}\right)^{n/2} e^{-\frac{1}{\alpha}|x|^{4}} e^{-\frac{1}{\alpha}|x|^{4}}$$

$$\mathcal{F}\left[e^{-\alpha |x|^{4}}\right](k) = \left(\frac{\pi}{\alpha}\right)^{n/2} e^{-\frac{1}{\alpha}|x|^{4}} e^{-\frac{1}{\alpha}|x|^{4}}$$

$$\mathcal{F}\left[e^{-\alpha |x|^{4}}\right](k) = \left(\frac{\pi}{\alpha}\right)^{n/2} e^{-\frac{1}{\alpha}|x|^{4}} e^{-\frac{1}{\alpha}|x|^{4}}$$

$$\mathcal{F}\left[e^{-\alpha |x|^{4}}\right](k) = \left(\frac{\pi}{\alpha}\right)^{n/2} e^{-\frac{1}{\alpha}|x|^{4}} e^{-\frac{1}{\alpha}|x|$$

Lemma 4.3 The Forvier freedom of a Schwartz but is Schwartz.  

$$F[\partial_{j}h](k) = \lambda \pi i k_{j} h(k) \quad \text{and} \quad F[-\lambda \pi i x_{j}h](k) = \partial_{j}h(k)$$

$$\frac{F[\partial_{j}h](k)}{F[\partial_{j}h](k)} = \lambda \pi i k_{j} h(k) \quad \text{and} \quad F[-\lambda \pi i x_{j}h](k) = \partial_{j}h(k)$$

$$\frac{F[\partial_{j}h](k)}{F[\partial_{j}h](k)} = \int_{\mathbb{R}^{n}} h(x) \left[ e^{-\lambda \pi i k \cdot x} \right] dx = \int h(x) dx = \int h(k) dx = \int h(k) dx$$

$$\frac{F[\partial_{j}h](k)}{F[\partial_{j}h](k)} = \int h(x) e^{-\lambda \pi i k \cdot x} dx \quad \text{cfs}$$

$$\frac{F[\partial_{j}h](k)}{F[\partial_{j}h](k)} = \int h(x) e^{-\lambda \pi i k \cdot x} dx \quad \text{cfs}$$

$$\frac{F[\partial_{j}h](k)}{F[\partial_{j}h](k)} = \int_{\mathbb{R}^{n}} h(x) e^{-\lambda \pi i k \cdot x} dx$$

$$\frac{F[\partial_{j}h](k)}{F[\partial_{j}h](k)} = \int_{\mathbb{R}^{n}} \frac{2h}{\partial x} e^{-\lambda \pi i k \cdot x} dx$$

$$= O - \int_{\mathbb{R}^{n}} h(x) = \frac{2\pi i k \cdot x}{\partial x} e^{-\lambda \pi i k \cdot x}$$

 $= 2\pi i k_{0} \int_{\mathbb{R}^{n}} h(x) e^{-2\pi i k \cdot x} dx$ .  $k_{(1,1,2)} = k_1 k_2 k_3^2$ Repeating  $F\left[\partial^{\alpha}h\right] = \left(2\pi^{\rho}\right)^{|\alpha|} k_{\alpha} \hat{h}(k)$ A anypdynamd  $\rho_{\ell,0}(\tilde{h}) < \infty$ . Step 3. F[-2#ix;h] = 2.h  $\frac{\partial \hat{h}}{\partial k_{i}} = \frac{\partial}{\partial k_{i}} \int_{\Omega^{2}} h(x) e^{-2\pi \rho k \cdot x} dx$  $= \int_{\mathcal{R}} h(x) \left(-2\pi i \chi_{j}\right) e^{-2\pi i k \cdot x} dx$  $= 5 \left( -2\pi i \times i \right)$ ie <u>dh</u> eC. ie hec μes.  $\Box$ 

$$\mathcal{F}\left[\partial_{y}^{2}u\right] = \partial_{\pi}\rho_{k} \mathcal{F}\left[\partial_{y}u\right] = (\partial_{\pi}r_{k})^{2} \mathcal{F}[u]$$

$$= -U_{\pi}^{2}k_{y}^{2}\hat{u}$$

$$\mathcal{F}\left[\partial_{u}\right] = \mathcal{F}\left[\partial_{r}^{2}u + \dots + \partial_{r}^{2}u\right]$$

$$= -U_{\pi}r_{k}^{2}\hat{u} - U_{\pi}r_{k}^{2}\hat{u} + \dots + \partial_{r}^{2}u^{2}\hat{u}$$

$$\mathcal{F}\left[\partial_{t}u\right] = \int_{\pi} \partial_{t}u(x_{r}t) e^{-2\pi i k \cdot x} dx$$

$$= \partial_{t}\hat{u}$$

$$\mathcal{F}\left[\partial_{t}u\right] = \int_{\pi} \partial_{t}u(x_{r}t) e^{-2\pi i k \cdot x} dx$$

$$rot = \partial_{t}\hat{u}$$

$$\mathcal{F}\left[\partial_{t}=0\right] = 0$$

$$O = \partial_{t}\hat{u} - \Delta u$$

$$O = \partial_{t}\hat{u} + U_{\pi}^{2}[k]^{2}\hat{u}$$

$$\partial_{t}(x_{r}t) = \int_{\pi} \partial_{t}u^{2}(x_{r}t) + U_{\pi}^{2}[k]^{2}\hat{u}$$

$$\partial_{t}(y = c_{y} \Rightarrow y = e^{c_{t}}y(0)$$

$$\hat{u}(k_{r}t) = e^{-U_{\pi}^{2}[k]^{2}t}\hat{u}(k_{r}0)$$

$$= e^{-U_{\pi}^{2}[k]^{2}t}\hat{h}(k)$$

$$\int_{w^{-}\pi^{2}} \int_{w^{-}\pi^{2}} \int_{w^{-}\pi^{2}}$$

 $\frac{\text{Lemma 4.4}}{\text{F[u * v]} = \hat{u}\hat{v}} \qquad \text{F[uv]} = \hat{u}\hat{v}$ proof  $F\left[u*v\right](k) = \int_{n}^{n} \left(\int_{n}^{n} u(x-y) v(y) dy\right) e^{-2\pi i k \cdot x} dx$  $= \int_{\mathbb{R}^n} \left( \int_{\mathbb{R}^n} u(x-y) e^{-2\pi i^{j} k \cdot x} dx \right) v(y) dy$  $z = x - y \quad dz = dx$  $=\int_{\mathbb{R}^{n}}\left(\int_{\mathbb{R}^{n}}u(z)e^{-2\pi i k \cdot z - 2\pi i k \cdot y} dz\right)v(y)dy$  $=\int_{\mathbb{R}^{n}} u(k) e^{-2\pi i^{2}k\cdot y} v(y) dy$  $= \widehat{\mathcal{U}}(k) \widehat{\mathcal{V}}(k).$ Second half of proof after Lamma 4.7 17

$$\hat{\mathcal{L}}(k,t) = e^{-it_{n} k |t_{n}|^{2}} \hat{\mathcal{L}}(k)$$

$$f(k)$$

$$f(k) = f\left[\frac{1}{(4\pi t)^{n/2}} e^{-\frac{12t^{2}}{4t}}\right] f(k)$$

$$(\mathcal{L}(x,t)) = \frac{1}{(4\pi t)^{n/2}} e^{-\frac{12t^{2}}{4t}} \frac{1}{4t} h$$